—lal) J—dat) gl

L) ls)eal) Adandgy Judasl) .1

) (Asll) Ay phall) lad) (Y Ay hll) Glaal) a—i)

(ase (T32- Uyl Jeua)) = (A Jeal) — Al JisaY) ) = (FR) Jalell JLall L,
b (Lpas clils —132)— (g & &+ wlbsnd) = (552) Dlsa — Bysall cilalaal ) = (BFR) Julall Jall Luly cilalia)
(e (A padl Ul — s3alall ol ) = ((Jaladl JU) Gy clalgia) — Jeladl JLal iy ) = (TR) dapal

) cal) Uadgy Jolasl) .2

Lalad) A1) ) Glwa Al i ) 5
1 o )45\ (Al Jyaall [/ Adlal) sy ) = a2l gl A PERr
1 e S (A Jeal) [ dalall Jlsd) ) = Ay al) Ay -
2 51 wlk (52 g sana [ Halall JIs) ) = 1 adlell LDEY) G e
0.5 e S (psadd) gsana [ palall JUl iy ) = 2 Adlall DY A T
0.5 (st o Cruming (I gsana [ 0l goana ) = Bl A A Sl L6
0.5 = sl (Il gsane [ Alglaiall JsuaY) ) = saaV1 A gaus A
1 o S (152 Ugnad) Jua) = Laledl U gl o e
05 503 sulk (132/ Gsaall) = Lalall gl 4o T
03 502 sulk (1328l aal) = Ll A gl s
/ 100 X ( Al JIse¥) [ Jlac) a3y ) = Lllea) A2 yal A )
/ 100 X ( Aalad) Jisa) / e o)) = ialal) 0 g3 ) ds el
/ DY) Jaadl) iloaa [ [ (o) sl + 05430 ) x 90 ] = Y yss 3aa
/ DY) Jadll i [ [ (@) 3hsl + ouaysall ) X 90 ] = Sdysall (ysd Baa Qapsl)




